

$$f \circ g(u) = g^{-1} \circ f \circ g(u) = u^r; 0 < u, \quad g \circ f(u) = 2u \rightarrow u^r - 2u < 0 \rightarrow \frac{r}{+} \frac{r}{-} \frac{r}{+} \quad (4)$$

$$\rightarrow [0, 2] \cap (0, +\infty) = [0, 2] \rightarrow u \in \mathbb{Z} \rightarrow u = 1, 2 \rightarrow \text{مقادیر صحیح}$$

$$f(u - \frac{r}{n}) = u^r - f + \frac{f}{n^r} + u - \frac{r}{n} \rightarrow f(u - \frac{r}{n}) = (u - \frac{r}{n})^r + u - \frac{r}{n} \rightarrow u - \frac{r}{n} = A \quad (5)$$

$$f(A) = A^r + A \rightarrow f(u) = u^r + u$$

$$D_{f \circ g(u)} = \{u \mid u \in D_g \wedge g(u) \in D_f\} \rightarrow D_f \cdot (0, +\infty), D_g = \mathbb{R} \rightarrow \quad (6)$$

$$0 < 1u - u^r \rightarrow \frac{1}{1+} \rightarrow (0, 1) \cap \mathbb{R} = (0, 1) \cdot D_{f \circ g(u)} = A$$

$$f \circ g(u) = \lg \frac{1u - u^r}{r} \rightarrow \max_{u \in \mathbb{R}} 1u - u^r \xrightarrow{u=1} (17) \rightarrow \lg \frac{1}{r} = f \rightarrow R_{f \circ g} = (-\infty, f] \cup B$$

$$\rightarrow A \cap B = (-\infty, f] \cap (0, 1) = (0, f] \rightarrow u \in \mathbb{Z} \rightarrow u = \{1, 2, 5, f\}$$

$$f(u) = k \rightarrow f(k) = 1 - r^r k^r \rightarrow f(u) = 1 - r^r u^r \quad (9)$$

$$h(g(u)) = (u-1)^r + 2u - 1 - r^r u^r \rightarrow \cancel{r^r u^r} - \cancel{r^r u^r} + r^r = u^r - \cancel{r^r u^r} + r^r - 1 \rightarrow$$

$$u^r + 2u - r^r = 0 \rightarrow \text{یک ریشه}$$

$$g(r) = 1 \rightarrow f(u) = r \rightarrow u = 1 \rightarrow -a - r = 1 \rightarrow a = -1. \quad (10)$$